2 TREEFHm

S it B %= i W = 1 =

4 B EEs RBES BERS E.TEE
MiEEEE (ERE ¥ — - HEEFE) %Eéﬁﬁ@
FEFEERL - NEFE % B o
@%ﬁ@é

AT (R 10 )
mLi,ﬁxﬁ%W &, REDH A e
ReSEI a2 |- F—u($7EH) T i DHERE
6 H HUF S < W E¥%EF

HABES AREFHR JXL3EE
7 A B EOEH (7/11~17/15)

milinE S AEMES

8 A B - IR ENE AR
A EEEE

9 H I\ E->EH) (9/26~9/30)
HHESOERE BHEE=E

joz
haal
e
TCI

MXESS TEETTET
10 H BAREBIERS E@EHE
RS EEhE TR

i1 A LR ERERERE
Wbty T f

12 1 WXL - FMHER
Hidee-> < 0 BIHE
HETEDORF

1A HEEES WIETHEHIT
2 A 2 ) =T B~
e

3 H R R R AL AR
TRER P P A




MEEAE BNAFE BEEPH B)
RADE i1 : )
BB WP | AUETHN | IR B E (RRE
EEE 105000] 105000 o 16ME 21ER
22 ® BmEO<DBEZRAS | 12020000] 12,020,000 0
- momme | |PAEREYS— | 5946000 5946000 0 _ T
SRR RS 475000| 475000 0
LEBS 2453 2496 43| BEESY
5.7 I A 111647 111,504 23| s, SRE. ASNT
6. LU o] 400000 400.000| 156 A iBIE thili PE
®_ A& it 18,660000] 19,060000] 400000
THoah
I MEETES | AGETEE | SEHR W = (RS)
() @RFHE 300000 300000]  300000] =&
2 FHEFY T300000] 200000 _-100000| BBEE, FHA(
1% 3% ® | @ssm | 200000 200000  Of #=Ebsm#ami. -
wampE 500000 600000 100000| MRS, BER. HHLI-M. HELM
(©) R " s0000|  50000| o FHHE
I 1,350000] _ 1,350,000] 300,000
BRI R R 50,000
1 BLEER. D} 450000] 750000 300000 WEEREFE 400,000
BT RREYE 300,000
| BREREER _ 1090000
(@) WREEH (419000 1403000|  -16000| TR EESAHRS _ 150000
eI e:o);_*"g‘“‘ 50000
St - AR—RRBE 113,000
LSREEREER .. 4808000
@ wwmmonk | 4e47000| 4833000|  1geoop| TEDMEFELER .0
cs,a s 225000
7«3?“‘}1.{ i 0
2. <D smunzlm 1160000
(4) SeBNOEE | 22650000 1805000  -460000| SHHERNG 436,000
P ETSE 209,000
SHRBEGT | 220000
5) FEmEwEE] 1.450000] 1840000  390000| PEUEEER | 720000
mmEEmmE 0 | 500000
BEREEE 400000
(6) FESLER 200000{ 200000 BagwmE ) 190090
ST 100000
(7) BT 108000 108000 o| BRELEERLA 68000
WTRRIRHS 40,000
inat 10,539000] 10939.000] 400000
3. PR 350000] 350000 o Tl
NN 10889,000] 11,289000] 400,000
BEIRAEY S~ 5946000 5946000 M¢~“-—— : 5'020’000
BENRARKEE AT5000| 475000 i -
i 70000
W m & B it 6,421,000 _6421,000 0
= A& &t 18.660,000| 19,060000] _ 400,000
[z Lsizmm IWAGE 19,060,000 —%ih&at 19,060,000 = 0




